N\ + barA) I dndo [GeV]

=
<
[

(
s

[sum p

Ratio to CMS

1072

1073

[EEY

0.5

7000 GeV pp Underlying Event
[ I I I | I I I | I I_
B Z(p,) vs p'fad (P, (AR) > 1.5 GeV) ]
E m CMS E
— --{d-- Herwig 7.2.1 default m
[ ¢ Sherpa 2.2.9 default ]
3 8 =
- g " el "B R - B = oz
L l : |
& 4 |

= 5
_—ﬁ I SR o ’ .................... ’ —
- Y ? =
o A =
| o, _

$ o
T _
o ~
= =
o =
B | | | | | | | | | I_
- ' ' ' ! ' ' ' ! ' =
. , o -
B , DN - N

: _
R oo B 5]
L O ' : _
| _
| | |

l L L L l
0 20 40

leading jet P, [GeV]

Rivet 3.1.10, = 2.9M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


